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Spring Test 1

Name ........................................................................ Class ................................. Date ...............................
1(7+0= 2|7 - =2

U
3| 5 of24= 416 — 4 =

U
5(6X5= = =9+8+1

U
7/60—10—10= 836+ 8=

U
9| 645 — =100 10/ 93 — 40 =

&
N 3xX7= 12| 24 > =

U
13/ 30 + 10 = 14| 732 — 30=

U




Spring Test 1 (continued)

How well did you do?
Colour the numbers of the
questions you goft correct.
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15 :;_0f21 161793 + 8 =
O
17| 548 + 295 = 18/ 8 X 6=
O
LS, X 3 =27 20| 613 — 355 =
O
7 4 _ _
21 0= 10 = 22 256 = 650
O
2 _ 2 1
O
p
25 =48 X 3 Total marks /25)
.
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Fractions

3112113115121 (23(24

Missing numbers 21911922




